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1. �A,B,C,D ∈ Mn(R), -

X =

(
A B

C D

)
.

y²: XJA �_�CA = AC, K|X| = |AD − CB|.

(5: ¢SþA �_�^��±�K)

2. ¦e�Ý
���Ý
9Ù_Ý
:

A =

(
1 2

3 4

)
, B =


1 0 1

0 1 0

2 1 3

 .
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BX =


1

0

0

 .

3. �A ∈ Mn(R), ÷vAAt = En, |A| = −1. y²: |En + A| = 0.

4. �A ∈ Mn(R), λ ∈ R. y²��Ý
äkXe5�:

(λA)∨ = λn−1A∨;
(
At
)∨

= (A∨)
t
; |A∨| = |A|n−1.

5. (a) �A,B ∈ Mn(R), �A,B�_, y²: (AB)∨ = B∨A∨.

(b) (À�) �A,B ∈ Mn(R), y²: (AB)∨ = B∨A∨. (=(a) ¥�_�^�¢S�

±�K. J«: ��ÄÝ
En + εA, ε ¿©�, �ë�2021-2022ÆcSK��

¥ÛP�ùÂ).


